A 3 NV C D

\/

REV MCO DWN DATE
F 20263143 JSL | 7T-APR-09
G |40031755MCO| OAVL 24-JUN-16

= 4.37 REF =

4" DUCT COVER

.09 REF\QHQ\

cf 7\En A
.96 REF
N o) LT

2"x4" VERTICAL DUCT

— = = I I
ST

I . ==

B s -

<

/ am | BRACKET CONFIGURATION "B"

i

DUCT MOUNTING BRACKETS E

BRACKET CONFIGURATION "A"

NOTES:

(1] #10 SCREW, NUT AND WASHER.

#12 SCREW, NUT AND WASHER.

2]
QTY DESCRIPTION (3] #12 SCREW AND WASHER.
4]

2"X4" VERTICAL DUCT (4] SEE COVER RETAINER [INSTALLATION ON SHEET 2.

I

I 4" DUCT COVER

I COVER RETAINER

6 GROMMET STRIPS

10 |DUCT MOUNTING BRACKETS

10 |#12 X 172 SCREWS SLOT
CATALOG NUMBER COLOR
10 [#12 FLATWASHERS SPACING /
5 #12 HEX NUTS FGS-KTW2-E YELLOW 5"
10 [#10 X 3/8 SCREWS FGSB-KTW2-E BLACK 5"
[0 [#10 FLATWASHERS NoTIcE; THESE DRawincs a0 seicificarions |0 F|BERGUIDE, VERT
10 [#10 HEX NUTS COMMSCOPE . INC. AND MAY BE USED ONLY FOR THE X4 (INSTL DWG)
SPECIFIC PURPOSE AUTHORIZED IN WRITING BY

HOSE END CLAMP COMMSCOPE, INC.

%6 X 3/8 PAN HEAD SCREWS COMMSCOPE, INC. |k Tackes"Buress™ > i | C o ™™™ V434 apc 0

2

4 SIZE REV
A 86 STAR-LOCK WASHERS OTHERWISE SPECIFIED ANGULAR:£N/A

4

#6 HEX NUTS DO NOT SCALE D ¢ pwn:  MICHAEL AMUNDSON

A 3 VAN C g DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION



\/

- 4. .50 REF =
— 1D | m—
Ve N
1l i
| .48 REF
M M $
[ ™
7 7

\
. == QW
COVER RETAINER Q

——= .52 REF

/N

T ((3 ;i | N Lﬂ:ii: 3
oo REF ) (o] (O 1] C O ) .
NOTES:
o /// | Y,
TWL\ [ 5. SLIDE COVER DOWN TO MIDWAY BETWEEN THE FIRST AND

U\\\V//f\\\d/ SECOND SLOTS ON THE STRAIGHT SECTION.

6. INSERT COVER RETAINER INTO THE STRAIGHT SECTION,
. i POSITIONING THE (2) CURLED TABS INSIDE THE SLOT ON
EACH SIDE OF THE STRAIGHT SECTION.

7. SNAP THE COVER RETAINER (2) CURLED TABS AROUND THE
EDGES OF THE FIBERGUIDE STRAIGHT SECTION, AS SHOWN.

8. SLIDE THE COVER UP, THROUGH THE CURLED TABS ON THE
COVER RETAINER, BACK TO THE ORIGINAL POSITION.

. 9. COVER RETAINER CAN ALSO BE [INSERTED IN THE LAST SLOT
ON THE STRAIGHT SECTION. INSTALLATION IS THE SAME,

TN — AFTER SLIDING THE COVER UP TO MIDWAY BETWEEN THE LAST
AND SECOND TO LAST SLOTS ON THE STRAIGHT SECTION. 4

© 2016 COMMSCOPE, INC.CONFIDENTIAL TITLE

1l s el oo IBERGUIDE, VERT
e e bunnGst AUTRORIGED H SR T Ihe ey 2X4 (CINSTL DWG)
COMMSCOPE, INC.
COMMSCOPE |NC ALL DIMS AND TOLERANCES .XXE:I:N/A C DRAWING NUMBER G
' SRR RS BNEERY ) anciiAR NI | sizE 101 7434_ADC REV
DO NOT SCALE DRAWING [EneR: HEVEN HRUBY SHT. 2 OF 2
oun:  MICHAEL AMUNDSON

A\ Eﬂ VAN <: {EEEEEE} DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION




	Sheet 1
	Views
	main_view
	new_view_14


	Sheet 2
	Views
	new_view_23
	bottom_23
	right_24
	new_view_30



